Chapter 2 Skills Organizer B

KEY

Solving a triangle means finding the measure of all unknown sides and angles. Compléte the
chart with all relevant formulas to solve any triangle.
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* Notes about the amb1guous case: ,
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0 triangles 4
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Chapter 2 Review

2.1 Angles in Standard Position, pages 56-67

1. Sketch each angle in standard position. State which quadrant the angle terminates in and

the measure of the reference angle.

a) 35° b) 165° c) 216°
y 7 74
35" e ae
h 0 . x h 0 x - x
{ Y '
quadrant X quadrant"‘_;ﬂ—_.~ quadrant __M,___.
GR = __&5_ GR = ___,_;5:_._. GR = __%j_——
2. Determine the exact value of the following ratios without using technology.
-1 +.L._ B -1 _=Jz
a) cos120°=_ 2. b) tan210° = *¥8& ° 3 ¢ sin31se=_J2 % 2.
74 v v
ﬁ 2ONZ
. . Y s o
D -1 ° x o 2 x - 0 « x
- (] haed '
| X 5 in
Y

{

\

2.2 Trigonometric Ratios of Any Angle, pages 68-79

3. A point P(-4, 5) lies on the terminal arm of an angle 8 in standard position. Determine the

exact trigonometric ratios for sin 6, cos 8, and tan 0.
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4. Suppose 0 is an angle in standard position with terminal arm in quadrant IT and sin 6

Determine the exact values of the other two primary trigonometric ratios.
y4 1-7?;_‘5; = a?. . A
7 64 = a® cor B F-8
IS 8= a 77
Y ‘o % - -
tan & =15
B
v
5. Solvefor9,0° =0 <360°. - - .
' b) Sil’19=~'-—\/z e -—2“%09
2 ‘ 1 4
Y e,=300°

2.3 The Sine Law, pages 81-93
6. Find the indicated side or angle.
b) side b = _2049.9

aysB=_19°

C
- 120°

Sin 38 _ sinB x54
0.3 5.4 o' . ®
; ; = B xsini28

B=1B 8" sSIN2S  SIn 1207

54 x

b = 204.9)
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7. Determine how many AABCs satisfy the following conditions. < \,
a) LA =169°a=10.1cm,andb = 11.4cm |

2

sin A° _ sinB
1.1 T

B = urdefired =)o +Hiargles |

b) LA =28 a=4,andb=6

B =44.8°
B,= 180 -44+.8 =135.2°
2.4 The Cosine Law, pages 94-102 )

2 triangles

8. Find the indicated side or angle.

a) sidec= 124 (
%= Tomts 52~2QQ15‘)C03A
A— = COS.-’ 62__ '02._52..
c?=9.2% iéluz.zﬁ;z'xns.q)ccs ° —2(0)(s)
c= 13.4 A= 27,1
(
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